Regents Exam Questions by Topic
QUADRATICS: Factoring the Difference of Perfect Squares-1IA
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1 The expression x> —16 is equivalent to
B (1) (x+2)(x—8) 3) (x+4)x—4)
ST @ (- 2(x48) (@) (x+8)(x—8)
2 Which expression is equivalent to 9x*> —16?
(1) B3x+4)(3x—4) (3) (3x+8)(3x—8)
PR (2) Bx—(Bx—4) (4) B3x—8)(3x—8)
3 The expression 9x” —100 is equivalent to
(1) 9x - 10)(x + 10) (3) (3x- 100)(3x- 1)
olooosm - (2) (3x - 10)(3x + 10) (4) Ox- 100)x+ 1)
4 Factored, the expression 16x% —25y? is equivalent to
(1) (4x - 5y)(4x + 5y) (3) (8x - 5y)(8x + 5y)
10080 (2) (4x - 5y)(4x - 5y) (4) (8x - 5y)(8x - 5y)

5 Factor completely: 4x° —36x
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